[2]AO

5 i ASRHEHREAHEABOHS
ZF101BRAE
s x |EM® T & ® & B = | 1HS |
BETH | R TA 2 3A 4N 5N 6A PN 8A 9N [1oA~] A B ]
Bt 8,998 440 | 1,022 1,436 1815] 1814 1,404 747 230 57 33| 39491 439
BR0E | B 6,312 347 758 | 1,056 | 1,285 1,217 915 799 167 20 28 | 27,246 | 4.32
5B AT 2,146 67 219 301 432 476 393 198 43 15 2 9,759 455
KAOH 540 26 45 79 98 121 96 50 20 2 3 2,486 | 4.60
B i 9,139 508 | 1,183 | 1,521 | 2,127 | 1,809 | 1,284 515 154 30 8 37,884 4.15
BRFN454 &L 6,545 423 889 1,143 1,541 1,252 820 345 107 17 8 26,481 4.05
- BT 2,005 70 240 303 436 445 370 133 36 2] — 9175 438
RADH 499 15 54 75 700 112 94 37 11 i = 2228 | 446
B | 9,541 643 1415] 1,800 [ 2,304 | 1,670] 1,079 506 98 22 4] 37480 3.93
B50E | B 6,033 536 | 1,042 | 1,361 1,720 1,139 715 350 58 ikl [ 26,592 | _3.84
5B AT 2,101 85 298 343 471 433 313 119 29 9 1 8,793 419
KAOH 507 22 75 96 113 98 51 37 Ti 2 2 2,006 | 4.3
B i 9,754 782 1690 | 1,852 | 2,186 | 1,589 | 1,088 461 91 12 3 37,029 3.80
BRAN554 F AT 7,168 665 1,295 1,380 1,617 1,106 721 316 58 9 1 26,486 3.70
BT 2,008 36 323 371 459 407 306 116 28 2] — 8,606 | 4.10
PN 488 31 72 101 110 76 61 29 5 1 2 1,937 3.97
Bt 10,025 959 | 1,820 1,905[ 2,112 1,600] 1,069 466 83 8 3| 37204 3.71
B60E | B 7,349 798 | 1,369 1411 1562 1,131 703 309 50 5 [ 26,588 | _3.62
AT 2,182 117 368 395 446 383 314 134 21 3 1 8,764 4.02
KAOH 494 44 83 99 104 36 52 23 7] — [ 1852 3.75
B 10,381 1,140 | 2,152 | 2,065 2,072 | 1,406 996 459 81 10 — 36,884 3.55
ER2E F AT 7,671 951 1,626 1,560 1,546 1,002 640 281 57 8 — 26,412 3.44
BT 2,197 124 472 5] 440 325 298 156 20 i = 8,635 | 3.3
PN 513 65 104 94 86 79 58 22 4 1 — 1,837 3.58
B 11,070 1,453 2579 2,159 | 2,195] 1,318 837 440 81 7 1] 37281 337
ERTE &L 8,140 | 1,186 | 1,021 | 1,606 | 1,627 978 545 260 50 6 [ 26,628 | _3.27
AT 2411 204 512 461 473 336 249 158 17 1 0 8,928 3.70
KAOH 519 63 146 92 95 54 13 22 Z 0 0 1,725 3.32
B th| 11,536 | 1,749 | 2979 | 2343 2152 | 1,178 755 302 73 5 - 36,507 3.16
ERE124E F AT 8,343 1,398 2,178 1,688 1,534 807 488 195 52 3 25,725 3.08
BT 2,684 262 654 553 547 325 225 97 9 2 = 9241 | 344
PN 509 89 147 102 71 46 42 10 2 — 1,541 3.03
B vh| 11,651 | 1,899 | 3177 [ 2483| 2130 1,073 597 230 55 6 1| 35283 | 3.03
TR7E [ B 8383 | 1,611 | 2309 | 1,769 1,481 721 398 152 37 1 [ 24759 | 295
AT 2,765 303 710 617 576 306 169 68 14 2 9,028 3.27
KAOH 503 85 158 97 73 76 30 10 Z = 1,496 | 2.97
B i 11,675 | 2,120 | 3,437 | 2,401 1,998 942 463 166 42 5 1 33,230 [ 2.87
224 [=E=IGH 8,305 1,666 2,502 1,719 1,329 636 309 113 28 2 1 23,220 2.80
BB BT 2,798 366 773 509 593 264 41 79 10 3 8,607 | 3.1
IBXF0FE 472 88 162 83 76 42 13 4 4 - 1,313 2.78
B h| 11,367 | 2379 | 3549 [ 2369 | 1,732 842 347 112 29 7 1] 30893 | 272
T4 [BELE 8124 | 1,828 | 2564 1,679 | 1,142 563 246 72 24 6 = 21,602 | 2.66
|E 5% BT 2,790 444 821 623 530 245 86 35 4 1 1 8,112 2.91
[BXFIR 453 107 164 67 60 34 15 5 [ = = 1,179 | 2.60
S22 [P M| 11,135 [ 2,655 3,650 | 2,273 | 1,535 667 253 78 16 7 1
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